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�D4>F<K9E>4O D45BF4 №1 

ФBD@4?<;4J<O CBEF46?9AAB= ;484K< 

Ц9?P D45BFO: "2;045BL B5E=8:>9 A>AB02;5=8O 0;3>@8B<>2. 
�484K< D45BFO:  !0CG8BLAO A>AB02;OBL ;8=59=K5 8 @0725B2;ONI85AO 

0;3>@8B<K. 

�484A<9: %>AB028BL 0;3>@8B<K, 8A?>;L7CO ?@54;>65==K5 7040=8O. 
 

"7=0:><LB5AL A B5>@5B8G5A:8< <0B5@80;><, =5>1E>48<K< 4;O 2K?>;=5=8O 
@01>BK: 

�;3>@8B< 4 A>2>:C?=>ABL ?>A;54>20B5;L=KE H03>2, AE5<0 459AB289, 
?@82>4OI8E : 65;05<><C @57C;LB0BC. 
$07@01>B0BL 0;3>@8B< >7=0G05B @0718BL 7040GC =0 >?@545;5==CN 

?>A;54>20B5;L=>ABL H03>2. "B @07@01>BG8:0 0;3>@8B<0 B@51C5BAO 7=0=85 
>A>15==>AB59 8 ?@028; A>AB02;5=8O 0;3>@8B<>2. 

"A=>2=K5 >A>15==>AB8 8 A2>9AB20 0;3>@8B<>2:  
1. !0;8G85 22>40 8AE>4=KE 40==KE.  
2. !0;8G85 2K2>40 @57C;LB0B0 2K?>;=5=8O 0;3>@8B<0.  
3. �8A:@5B=>ABL.  
4. (>@<0;L=>ABL.  
5. "?@545;5==>ABL (B>G=>ABL).  
6. #>=OB=>ABL.  
7. $57C;LB0B82=>ABL (:>=5G=>ABL).  
8. �>@@5:B=>ABL.  
9.  0AA>2>ABL.  
10. 1DD5:B82=>ABL. 
�;3>@8B<K <>6=> 70?8AK20BL ?>-@07=><C. (>@<0 70?8A8, A>AB02 8 :>;8G5AB2> 

>?5@0F89 0;3>@8B<0 7028A8B >B B>3>, :B> 1C45B 8A?>;=8B5;5< MB>3> 0;3>@8B<0. 

%?>A>1K >?8A0=8O 0;3>@8B<0:  
1. (>@<C;L=0O 70?8AL  
2. &01;8G=0O 70?8AL  
3. $0725@=CB0O A;>25A=0O  
4. !0 0;3>@8B<8G5A:>< O7K:5  
5. �@0D8G5A:89 (2 2845 1;>: AE5<K)  
6. !0 O7K:5 ?@>3@0<<8@>20=8O 
"A=>2=K< M;5<5=B0@=K< 459AB285< 2 2KG8A;8B5;L=KE 0;3>@8B<0E O2;O5BAO 

?@8A20820=85 7=0G5=8O ?5@5<5==>9 25;8G8=5. �A;8 7=0G5=85 :>=AB0=BK 
>?@545;5=> 284>< 55 70?8A8, B> ?5@5<5==0O 25;8G8=0 ?>;CG05B :>=:@5B=>5 
7=0G5=85 B>;L:> 2 @57C;LB0B5 ?@8A20820=8O. 

#@8A20820=85 3 MB> >?5@0F8O, :>B>@0O 7=0G5=85 2K@065=8O, AB>OI55 A?@020 >B 
A8<2>;0 «:=» 70?><8=05B 2 ?5@5<5==>9 8;8 M;5<5=B5 <0AA820, AB>OI5< A;520. 
#@8 ?@8A20820=88 ?@>8AE>48B ?@5>1@07>20=85 B8?>2 40==KE, 5A;8 >=8 =5 
A>2?040NB. 



5 

 

�8=59=K<8 =07K20NBAO 0;3>@8B<K, 2 :>B>@KE 2A5 459AB28O >ACI5AB2;ONBAO 
?>A;54>20B5;L=> 4@C3 70 4@C3><, ?@8 MB>< :0640O :><0=40 2K?>;=O5BAO B>;L:> 
>48= @07 AB@>3> ?>A;5 B>9 :><0=4K, :>B>@0O 59 ?@54H5AB2C5B. �8=59=K9 
0;3>@8B< A>AB02;O5BAO 87 :><0=4 ?@8A20820=8O, 22>40, 2K2>40 8 >1@0I5=8O : 
2A?><>30B5;L=K< 0;3>@8B<0<. 

$0725B2;ONI8<AO =07K205BAO 0;3>@8B<, 2 :>B>@>< 459AB285 2K?>;=O5BAO ?> 
>4=>9 87 2>7<>6=KE 25B259 @5H5=8O 7040G8, 2 7028A8<>AB8 >B 2K?>;=5=8O 
CA;>289. �064>5 87 2>7<>6=KE =0?@02;5=89 40;L=59H8E 459AB289 =07K205BAO 
25B2LN. � 1;>:-AE5<0E @0725B2;5=85 @50;87C5BAO A?5F80;L=K< 1;>:>< 
«$5H5=85». 1B>B 1;>: ?@54CA<0B@8205B 2>7<>6=>ABL 42CE 2KE>4>2. � A0<>< 
1;>:5 «$5H5=85» 70?8AK205BAO ;>38G5A:>5 CA;>285, >B 2K?>;=5=8O :>B>@>3> 
7028AOB 40;L=59H85 459AB28O. 

*8:;8G5A:8< =07K205BAO 0;3>@8B<, 2 :>B>@>< =5:>B>@0O G0ABL >?5@0F89 (B5;> 
F8:;0 3 ?>A;54>20B5;L=>ABL :><0=4) 2K?>;=O5BAO <=>3>:@0B=>, B.5. 1>;55 >4=>3> 
@070. 
$07;8G0NB:  

1.F8:;K A 8725AB=K< G8A;>< ?>2B>@5=89 (8;8 A> AG5BG8:><);  
2.F8:;K A =58725AB=K< G8A;>< ?>2B>@5=89 (F8:;K A ?@54CA;>285< 8 F8:;K A 
?>ABCA;>285<). 
� ;N1>< F8:;5 4>;6=0 1KBL ?5@5<5==0O, :>B>@0O C?@02;O5B 2KE>4>< 87 F8:;0, 

B.5. >?@545;O5B G8A;> ?>2B>@5=89 F8:;0. 

� F8:;0E A> AG5BG8:>< 8725AB=> G8A;> ?>2B>@5=89 F8:;0, B.5. >=> O2;O5BAO 
D8:A8@>20==K< G8A;><. � MB>< A;CG05 ?5@5<5==0O, :>B>@0O AG8B05B :>;8G5AB2> 
?>2B>@5=89 (H03>2) F8:;0, =07K205BAO AG5BG8:>< F8:;0 (8;8 ?0@0<5B@>< F8:;0, 
8;8 C?@02;ONI59 ?5@5<5==>9 F8:;0). 

*8:;K A ?@54CA;>285< 3 MB> B0:85 F8:;K, 2 :>B>@KE 4> =0G0;0 2K?>;=5=8O 
B5;0 F8:;0 ?@>25@O5BAO CA;>285 2K?>;=5=8O A;54CNI53> H030 F8:;0. �A;8 
7=0G5=85 MB>3> CA;>28O 8AB8==> (B.5. CA;>285 2K?>;=O5BAO), B> 2K?>;=O5BAO B5;> 
F8:;0. 
*8:; A ?>ABCA;>285< B0:65 8A?>;L7C5BAO ?@8 =58725AB=>< 70@0=55 :>;8G5AB25 

?>2B>@5=89 F8:;0, => 2 >B;8G85 >B F8:;0 A ?@54CA;>285< 745AL CA;>285 =0 2KE>4 
87 F8:;0 ?@>25@O5BAO ?>A;5 B>3>, :0: 2K?>;=8;8AL >?5@0B>@K B5;0 F8:;0. 

 

�484A<9 1: %>AB028BL ;8=59=K5  0;3>@8B<K, 8A?>;L7CO ?@54;>65==K5 7040=8O. 
 

 4EE@BFD<F9 CD<@9DAO9  GCD4:A9A<O 

1. %>AB02;5=85 0;3>@8B<0 2 B01;8G=>9 D>@<5 4;O 2KG8A;5=8O 2K@065=8O : 
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�AE>4=K5 40==K5: x.  
$57C;LB0B: y. 
#>A;54>20B5;L=>ABL H03>2 8 >?8A0=85 459AB289:  

1.a := 8x  

2.b := a -1  

3.c := 4x  

4.d := c+2  

5.y := b/d 

2. %>AB02;5=85 0;3>@8B<0 2KG8A;5=8O ?;>I048 ?>25@E=>AB8 F8;8=4@0 A 
480<5B@>< D 8 2KA>B>9 H 2 B01;8G=>9 D>@<5. 

 

�AE>4=K5 40==K5: D, H.  
$57C;LB0B: S. 

#>A;54>20B5;L=>ABL H03>2 8 >?8A0=85 459AB289:  
1.a:= ÃD2  
2.b:= a / 4  

3.c:= ÃDH  

4.S:= b + c 

3. �KG8A;8BL D0:B>@80; G8A;0 n (c=n!), :>B>@K9 2KG8A;O5BAO ?> D>@<C;5 
c=1*2*3*4*&*n. �;3>@8B< ?@54AB028BL 2 A;>25A=>9 D>@<5. 

 

�AE>4=K5 40==K5: n.  
$57C;LB0B: c. 

�;3>@8B<:  
1.#>;0305< c=1 8 ?5@5E>48< : A;54CNI5<C ?C=:BC.  
2.#>;0305< i=1 8 ?5@5E>48< : A;54CNI5<C ?C=:BC.  
3.#>;0305< c=i*c 8 ?5@5E>48< : A;54CNI5<C ?C=:BC.  
4.#@>25@O5<, @02=> ;8 i G8A;C n. �A;8 i=n, B> 2KG8A;5=8O ?@5:@0I05<. �A;8 i 
1>;LH5 n, B> C25;8G8205< i =0 1 8 ?5@5E>48< : ?C=:BC 3. 

 

ВOCB?A<FP E4@BEFBOF9?PAB 

 

%>AB02LB5 0;3>@8B<K @5H5=8O A;54CNI8E 7040G:  
1.#> 7040==K< D>@<C;0< A>AB028BL 2KG8A;8B5;L=K5 0;3>@8B<K 2 2845 B01;8F: 

  

(S 3 ?;>I04L 1>:>2>9 ?>25@E=>AB8 :>=CA0, D 3 480<5B@ >A=>20=8O, L - 
>1@07CNI0O);  
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(f 3 G0AB>B0 A>1AB25==KE :>;510=89 2 :>=BC@5, L 3 8=4C:B82=>ABL :0BCH:8, C 3 
5<:>ABL :>=45=A0B>@0). 
2. �0=> 7=0G5=85 x. #>;CG8BL 7=0G5=8O -2x+3x234x3 8 1+2x+3x234x3 . 

#>701>B8BLAO >1 M:>=><88 >?5@0F89. 

3. �0=> 7=0G5=85 a. !5 8A?>;L7CO =8:0:8E DC=:F89 8 =8:0:8E >?5@0F89, :@><5 
C<=>65=8O, ?>;CG8BL 7=0G5=85 a8 70 B@8 >?5@0F88 8 a10 70 G5BK@5 >?5@0F88. 

4. %>AB028BL 0;3>@8B< 4;O 2KG8A;5=8O ?CB8, ?@>945==>3> ;>4:>9, 5A;8 55 
A:>@>ABL 2 AB>OG59 2>45 v :</G, A:>@>ABL B5G5=8O @5:8 v1 :</G, 2@5<O 42865=8O ?> 
>75@C t1 G, 0 ?@>B82 B5G5=8O @5:8 3 t2 G. �A?>;L7>20BL A;>25A=K9 A?>A>1 70?8A8 
0;3>@8B<0. 

�484A<9 2: %>AB028BL @0725B2;ONI85AO 0;3>@8B<K, 8A?>;L7CO ?@54;>65==K5 
7040=8O. 

 

 4EE@BFD<F9 CD<@9DAO9 GCD4:A9A<O: 
1. %>AB02LB5 1;>:-AE5<C 2KG8A;5=8O 7=0G5=8O DC=:F89: 

 
 

�AE>4=K5 40==K5: x. $57C;LB0B: y. 

 
 

ВOCB?A<FP E4@BEFBOF9?PAB 

%>AB02LB5 0;3>@8B<K @5H5=8O A;54CNI8E 7040G: 
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1. �7>1@078B5 1;>:-AE5<C ?@>AB>3> 480;>3>2>3> 0;3>@8B<0, :>B>@K9 
>1@0I05BAO : ?>;L7>20B5;N A ?@>AL1>9 225AB8 A=0G0;0 AB@>:C 8<O, 0 70B5< AB@>:C 
=0AB@>5=85. � @57C;LB0B5 480;>30 <>65B ?>O28BLAO A;54CNI89 A>2<5AB=K9 
B5:AB:  
#@>3@0<<0> �4@02AB2C9B5! �0: �0H5 8<O?  
#>;L7>20B5;L> �02@8:  
#@>3@0<<0> �>1@>5 CB@>, �02@8:! �0: =0AB@>5=85?  
#>;L7>20B5;L> B0: A515  
#@>3@0<<0> ' <5=O B>65 B0: A515, �02@8:! 

2. �0=K B@8 459AB28B5;L=KE G8A;0. �>725AB8 2 :204@0B B5 87 =8E, 7=0G5=8O 
:>B>@KE =5>B@8F0B5;L=K, 8 2 G5B25@BCN AB5?5=L 3 >B@8F0B5;L=K5. 

3. %>AB02LB5 1;>:-AE5<C 2KG8A;5=8O 7=0G5=8O DC=:F89: 

 

4. %>AB02LB5 ?@>3@0<<C, 70<5=ONICN <5=LH55 87 42CE 40==KE G8A5; AC<<>9, 
0 1>;LH55 3 ?@>872545=85< MB8E G8A5;. 

5. %>AB028BL 1;>:-AE5<C 0;3>@8B<0 2KG8A;5=8O ?;>I048 B@5C3>;L=8:0 3-<O 
@07;8G=K<8 A?>A>10<8 =0 2K1>@ ?>;L7>20B5;O. 

 

�484A<9 3: %>AB028BL F8:;8G5A:85 0;3>@8B<K, 8A?>;L7CO ?@54;>65==K5 
7040=8O. 
 4EE@BFD<F9 E?98GNщ<9 GCD4:A9A<O 

1. %>AB02LB5 0;3>@8B< 2KG8A;5=8O AC<<K ?5@2KE 20 G;5=>2 
?>A;54>20B5;L=>AB8 A >1I8< G;5=>< a= S + (k + 1) / (2k + 1)2 , 8A?>;L7CO F8:;K A 
?@54CA;>285< 8 ?>ABCA;>285<. �;O F8:;8G5A:>3> =0:0?;820=8O AC<< ?@8 
A>AB02;5=88 A>>B25BAB2CNI8E 0;3>@8B<>2 8A?>;L7C5BAO ?@54?8A0=85 
AB0=40@B=>3> 2840: AC<<0 := AC<<0 + A;0305<>5. �A;8 ?>2B>@OBL B0:>5 
?@54?8A0=85 B@51C5<>5 :>;8G5AB2> @07, 87<5=OO A>>B25BAB2CNI8< >1@07>< 
A;0305<>5, B> 8 1C45B ?>;CG5=0 8A:><0O AC<<0. #>=OB=>, GB> AC<<0 ?5@54 
=0G0;>< @01>BK F8:;0 4>;6=0 8<5BL =C;52>5 7=0G5=85. � AE5<5, 87>1@065==>9 
=865, @>;L AC<<K 2K?>;=O5B ?5@5<5==0O S, 0 @>;L A;0305<>3> 3 D>@<C;0 >1I53> 
G;5=0 ?>A;54>20B5;L=>AB8 (k + 1)(2k + 1). �7<5=5=85 A;0305<>3> 4>AB8305BAO 
C25;8G5=85< 2 :064>< >1>@>B5 F8:;0 =><5@0 G;5=0 k =0 548=8FC. %;>25A=0O 
70?8AL MB>3> 0;3>@8B<0: 

*8:; A ?>ABCA;>285<:  
1. =0G0;>  
2. k := 1; S := 0  

3. S := S + (k + 1) / (2k + 1)2  

4. k := k + 1  

5. 5A;8 k ≤ 20 84B8 : ?.3  
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6. 2K2>4 S  

7. �>=5F 
 

*8:; A ?@54CA;>285<:  
1. =0G0;>  
2. k := 1; S := 0  

3. 5A;8 k > 20 84B8 : ?.6  
4. S := S + (k + 1) / (2k + 1)2  

5. k := k + 1; 84B8 : ?.3  
6. 2K2>4 S  

7. �>=5F 
2. %>AB02LB5 1;>:-AE5<C 0;3>@8B<0 4;O 2KG8A;5=8O 7=0G5=89 DC=:F88 4;O 

7=0G5=89 x, =0G8=0O A x=1 4> x=10 A H03>< h=0,5. 

 

�AE>4=K5 40==K5: x.  

$57C;LB0B: x, y.  

 

. 3 %>AB02LB5 0;3>@8B< 4;O >?@545;5=8O k 3 :>;8G5AB20 B@5E7=0G=KE 
=0BC@0;L=KE G8A5;, AC<<0 F8D@ :>B>@KE @02=0 n (1 < n < 27). "?5@0F88 45;5=8O 
=5 8A?>;L7>20BL. � 0;3>@8B<5 ?@8=OBK >1>7=0G5=8O: d1 - ;520O, d2 - A@54=OO, d3 3 
?@020O F8D@K G8A;0. 

 

�AE>4=K5 40==K5: n.  
$57C;LB0B: k,d1,d2,d3. 
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ВOCB?A<FP E4@BEFBOF9?PAB 

%>AB02LB5 0;3>@8B<K @5H5=8O A;54CNI8E 7040G: 
1. %>AB02LB5 1;>:-AE5<K 0;3>@8B<>2 4;O 7040G8 87 '?@06=5=8O 1. 

2. %>AB02LB5 1;>:-AE5<C 0;3>@8B<0 4;O @5H5=8O A;54CNI59 7040G8: =0G02 
B@5=8@>2:8, A?>@BA<5= ?@>1560; 10 :<. �064K9 45=L >= C25;8G820; 4=52=CN 
=>@<C =0 10% =>@<K ?@54K4CI53> 4=O. �0:>9 AC<<0@=K9 ?CBL ?@>1568B 
A?>@BA<5= 70 7 4=59? 

3. �7>1@078B5 1;>:-AE5<C 0;3>@8B<0 >?@545;5=8O <0:A8<0;L=>3> G8A;0 2 
?>A;54>20B5;L=>AB8 87 n ?@>872>;L=KE G8A5;. 

4. %>AB02LB5 1;>:-AE5<C 0;3>@8B<0 2KG8A;5=8O AC<<K :204@0B>2 ?5@2KE n 
G8A5; =0BC@0;L=>3> @O40. 

5. !09B8 AC<<C ?5@2KE n G;5=>2 @O40 

  

6. !09B8 2A5 45;8B5;8 F5;>3> ?>;>68B5;L=>3> G8A;0 (:@><5 1 8 A0<>3> G8A;0). 
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�01>@0B>@=0O @01>B0 71 

 

�AEF4??OJ<O  < >BAH<7GD<DB64A<9 >B@C<?OFBD4 Pascal.  !BEF46?9A<9 < 
BHBD@?9A<9 CDB7D4@@O A4 O;O>9 CDB7D4@@<DB64A<O Pascal . "9EF<DB64A<9 < 
BF?48>4 CDB7D4@@O 

 

*5;L @01>BK: !0CG8BLAO 8=AB0;;OF88  8 :>=D83C@8@>20=8N :><?8;OB>@0 
Pascal.  

�0:@5?8BL =0 ?@0:B8:5 B5>@5B8G5A:85 7=0=8O ?> A>740=8N ?@>3@0<< A 
;8=59=K<8 0;3>@8B<0<8, 70:@5?8BL =0 ?@0:B8:5 =02K:8 @01>BK 2 A@545 Turbo 
Pascal:  

1.=0CG8BLAO 70?8AK20BL =0 O7K:5 Pascal <0B5<0B8G5A:85 2K@065=8O  
2.=0CG8BLAO 8A?>;L7>20BL AB0=40@B=K5 DC=:F88 O7K:0 #0A:0;L  
3.=0CG8BLAO @01>B0BL A F5;K<8 B8?0<8 40==KE  
4.=0CG8BLAO @01>B0BL A 25I5AB25==K<8 B8?0<8 40==KE 
5.=0CG8BLAO @01>B0BL A >?5@0B>@0<8 22>40;  
6.=0CG8BLAO @01>B0BL A >?5@0B>@0<8 2K2>40;  
7.D>@<0B8@>20BL 2KE>4=CN 8=D>@<0F8N;  
8.>7=0:><8BLAO A >A>15==>ABO<8 B5:AB>2>3> @568<0 
�040=85 1 
�;O 8=AB0;;OF88  8 :>=D83C@8@>20=8O :><?8;OB>@0 Pascal A:0G0BL 0@E82. "= 

A>45@68B 2A5 =5>1E>48<>5 4;O 70?CA:0 Borland Pascal ?>4 "% Windows (32- 8 64-
@07@O4=K<8 25@A8O<8), 2 B>< G8A;5 @CA8D8:0B>@ (?5@5E>4 =0 @CAA:89 O7K: 8 
>1@0B=> A ?><>ILN :;028H8 Ctrl). !0AB>OB5;L=> =5 @5:><5=4C5BAO 1@0BL Borland 
8;8 Turbo Pascal 87 4@C38E 8AB>G=8:>2, B0: :0: ?> C<>;G0=8N Borland 8 Turbo 
Pascal 83=>@8@C5B <=>385 >H81:8 2 ?@>3@0<<0E, 0 A:><?8;8@>20==K5 ?@>3@0<<K 
<>3CB =5 @01>B0BL =0 4>AB0B>G=> 1KAB@KE :><?LNB5@0E. 

- �A;8 ?@8 @0A:@KB88 =0 ?>;=K9 M:@0= (Alt+Enter) 8A:060NBAO F25B0 8 
>:=> BP 87 A8=53> AB0=>28BAO :@0A=K<, B> A;54C5B 2 :>=5F D09;0 
dos\dosbox.conf 4>1028BL AB@>G:8:  

           [sdl] 

           output = opengl 

- �A;8 =01;N40NBAO ?@>1;5<K A @01>B>9 0@8D<5B8:8 A ?;020NI59 
70?OB>9, B> ?@>25@LB5, GB> 2 =0AB@>9:0E Options -> Compiler A=OB0 30;>G:0 
A ?C=:B0 8087/80287, 2 @0745;5 Numeric Processing. 

 

�040G8 @01>BK 2: !0?8A0BL 2 A@545 Turbo Pascal ?@>3@0<<K, @50;87CNI85 
A;54CNI85 ;8=59=K5 0;3>@8B<K, 70?CAB8BL 8E =0 2K?>;=5=85. 
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�040G8 @01>BK 3 1!0?8A0BL 2 A@545 Turbo Pascal ?@>3@0<<K, @50;87CNI85 
A;54CNI85 ;8=59=K5 0;3>@8B<K, 70?CAB8BL 8E =0 2K?>;=5=85 

1. !0?8A0BL ?@>3@0<<C, :>B>@0O 4;O 7040==>3> F5;>3> G8A;0 a ?5G0B05B 
A;54CNICN B01;8FC: 

 

2. �KG8A;8BL 4;8=C >:@C6=>AB8, ?;>I048 :@C30 8 >1J5<0 H0@0 >4=>3> 8 B>3> 
65 7040==>3> @048CA0. 

3. !0?8A0BL ?@>3@0<<C 2KG8A;5=8O ?5@8<5B@0 8 ?;>I048 ?@O<>C3>;L=>3> 
B@5C3>;L=8:0 ?> 4;8=0< 42CE :0B5B>2. 
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4. !0?8A0BL ?@>3@0<<C, :>B>@0O ?> :>>@48=0B0< B@5E 25@H8= =5:>B>@>3> 
B@5C3>;L=8:0 2KG8A;O5B 53> ?;>I04L 8 ?5@8<5B@. 

5. !09B8 ?;>I04L :>;LF0, 2=CB@5==89 @048CA :>B>@>3> @025= 20, 0 2=5H=89 3 
7040==><C G8A;C r ( r>20). 

�BDO8B> 6OCB?A9A<O   
1. %>AB028BL 2 B5B@048 0;3>@8B< 

2. !0?8A0BL ?@>3@0<<C 
3. "B;048BL ?@>3@0<<C 
4. #@>B5AB8@>20BL ?@>3@0<<C 
5. �0?8A0BL 2 B5B@048 B5:AB ?@>3@0<<K  
6. �0?8A0BL 2 B5B@048 2E>4=K5 8 2KE>4=K5 40==K5 
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#@0:B8G5A:0O @01>B0 72 

 

%>AB02;5=85 ?@>3@0<< @0725B2;ONI59AO AB@C:BC@K. #@8<5=5=85 ?>;CG5==KE 
7=0=8O 2 >1;0AB8 <0B5<0B8:8. 

*5;L @01>BK:  

1.=0CG8BLAO @01>B0BL A >?5@0B>@>< CA;>28O IF THEN ELSE;  
2.=0CG8BLAO @01>B0BL A >?5@0B>@>< 2K1>@0 CASE 

�040=85: !0?8A0BL 2 A@545 Turbo Pascal ?@>3@0<<K, @50;87CNI85 A;54CNI85 
0;3>@8B<K, 70?CAB8BL 8E =0 2K?>;=5=85. 
1. !0?8A0BL ?@>3@0<<C 2KG8A;5=8O Y: 

 

2. !0?8A0BL ?@>3@0<<C 2KG8A;5=8O X: 

 

3. %>AB028BL ?@>3@0<<C 4;O ?>4AG5B0 G8A;0 1C:2 �, �, � - 2 ?@54;>65=88. 
#@54;>65=85 22>48BAO >B45;L=K<8 A8<2>;0<8 4> B5E ?>@ ?>:0 =5 22545= A8<2>; 
(.). 

4. � AB@>:5 22545==KE A8<2>;>2 ?>4AG8B0BL :>;8G5AB2> A8<2>;>2 C, D, P, 
AG8B0O :>=F>< 22>40 A8<2>; (*). 

5. #> 22545==><C =><5@C <5AOF0 =0?5G0B0BL =08<5=>20=85 2@5<5=8 3>40 8 
=08<5=>20=85 <5AOF0. 

6. ';8F0 �09:0;LA:0O @0718B0 =0 CG0AB:8: 

 

A 1 ?> 100 4>< - 1 CG0AB>:  
A 101 ?> 203 4>< - 2 CG0AB>:  
A 204 ?> 308 4>< - 3 CG0AB>:  
>AB0;L=K5 4><0 - 4 CG0AB>:. 

#> 22545==><C =><5@C 4><0 2K40BL 7 CG0AB:0. 
7. �568B ;8 22545==>5 7=0G5=85 ) =0 >B@57:5 2 8=B5@20;5 [4,5.4]. 

8. � ?OB8MB06=>< 4><5 =0 :064>< MB065 @0A?>;>65=> ?> G5BK@5 :20@B8@K. 
%>AB028BL ?@>3@0<<C, :>B>@0O ?> =><5@C MB060, ?5G0B05B =><5@0 :20@B8@ =0 MB>< 
MB065. 
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9. !0?8A0BL ?@>3@0<<C =0E>645=8O =081>;LH53> G8A;0 87 22545==KE G8A5;, 
AG8B0O :>=F>< 22>40 0. 
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#@0:B8G5A:0O @01>B0 73 

%>AB02;5=85 ?@>3@0<< F8:;8G5A:>9 AB@C:BC@K 

 

*5;L @01>BK: !0CG8BLAO @01>B0BL A >?5@0B>@>< F8:;0 FOR. !0CG8BLAO @01>B0BL 
A >?5@0B>@>< F8:;0 WHILE (F8:; A ?@54CA;>285<). !0CG8BLAO @01>B0BL A 
>?5@0B>@>< F8:;0 Repeat &. Until(F8:; A ?>ABCA;>285<). 

 

�484A<9 1: #@>3@0<<8@>20=85 7040G A >?5@0B>@>< F8:;0 FOR. !0?8A0BL 2 
A@545 Turbo Pascal ?@>3@0<<K, @50;87CNI85 A;54CNI85 0;3>@8B<K, 70?CAB8BL 8E 
=0 2K?>;=5=85. 
1.%>AB028BL ?@>3@0<<C >?@545;5=8O @07@O4=>AB8 22545==>3> F5;>3> G8A;0. 
2. #>4AG8B0BL AC<<C >B@8F0B5;L=KE G8A5; ?>A;54>20B5;L=>AB8. 

3. %>AB028BL ?@>3@0<<C ?>4AG8BK20NICN AC<<C F8D@ 22>48<>3> 
=0BC@0;L=>3> G8A;0. 

4. �<55BAO >4=><5@=K9 <0AA82 87 15 G8A5; (a1, a2, a3 ... a15). % >AB028BL 
?@>3@0<<C 8E 22>40. '?>@O4>G8BL <0AA82 ?> C1K20=8N. 

5.�25AB8 5-B87=0G=>5 G8A;>. �K25AB8 ?>A;54>20B5;L=>ABL F8D@ =0G8=0O A 
:>=F0. 

 

#@8<5@: 22>4 - 42891  

2K2>4 - 1 9 8 2 4 

 

�484A<9 2: #@>3@0<<8@>20=85 7040G A >?5@0B>@>< F8:;0 WHILE. !0?8A0BL 2 
A@545 Turbo Pascal ?@>3@0<<K, @50;87CNI85 A;54CNI85 0;3>@8B<K, 70?CAB8BL 8E 
=0 2K?>;=5=85. 
1.#>4AG8B0BL ax*x+bx+c , ?@8 a=18.5, b=-0.5,c=134 , x 87<5=O5BAO >B -1 4> 0.6 A 

H03>< 0.2. �=0G5=8O 2K4020BL =0 :064>< H035 8B5@0F88. 

2. #>4AG8B0BL AC<<C ?>;>68B5;L=KE G8A5; ?>A;54>20B5;L=>AB8. 

3. #>4AG8B0BL w=(a+bx)sqrt(x+1), ?@8 a=2.8, b=-0.3, x 87<5=O5BAO >B 1 4> 3 A 
H03>< 0.5. �K4020BL 7=0G5=8O =0 :064>< H035 8B5@0F88 

4. �<55BAO >4=><5@=K9 <0AA82 87 20 G8A5; (B1,B2,B3 & B20). %>AB028BL 
?@>3@0<<C 8E 22>40. '?>@O4>G8BL <0AA82 ?> 2>7@0AB0=8N. 

5. #>4AG8B0BL 

 
*5;L @01>BK: !0CG8BLAO @01>B0BL A >?5@0B>@>< F8:;0 Repeat &. Until(F8:; A 

?>ABCA;>285<). 
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�484A<9.3 #@>3@0<<8@>20=85 7040G A >?5@0B>@>< F8:;0 Repeat!0?8A0BL 2 
A@545 Turbo Pascal ?@>3@0<<K, @50;87CNI85 A;54CNI85 0;3>@8B<K, 70?CAB8BL 8E 
=0 2K?>;=5=85 
#5@525@=CBL G8A;> 12345 54321 

 

1.#>4AG8B0BL ax*x+bx+c , ?@8 a=18.5, b=-0.5,c=134 , x 87<5=O5BAO >B -1 4> 0.6 A 
H03>< 0.2. �=0G5=8O 2K4020BL =0 :064>< H035 8B5@0F88. 

2. #>4AG8B0BL AC<<C ?>;>68B5;L=KE G8A5; ?>A;54>20B5;L=>AB8. 

3. #>4AG8B0BL w=(a+bx)sqrt(x+1), ?@8 a=2.8, b=-0.3, x 87<5=O5BAO >B 1 4> 3 A 
H03>< 0.5. �K4020BL 7=0G5=8O =0 :064>< H035 8B5@0F88 

4. �<55BAO >4=><5@=K9 <0AA82 87 20 G8A5; (B1,B2,B3 & B20). %>AB028BL 
?@>3@0<<C 8E 22>40. '?>@O4>G8BL <0AA82 ?> 2>7@0AB0=8N. 

5. #>4AG8B0BL 

 
  

var  

c,b,x : integer;  

begin  

writeln('�2548B5 G8A;>'); 
readln(x);  

if x 9 < then  

writeln('+8A;> 4>;6=> 1KBL 1>;LH5 9')  
else 

repeat  

c:=x div 10;  

b:=x mod 10;  

x:=c;  

write(b);  

until c < 9;  

writeln(c);  

readln;  

end. 
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�D4>F<K9E>4O D45BF4 №4 

�5D45BF>4 B8AB@9DAOI @4EE<6B6 

Ц9?P D45BFO:  !0CG8BLAO ?8A0BL ?@>3@0<<K A 8A?>;L7>20=85< >4=><5@=KE 8 
42C<5@=KE <0AA82>2. 

 =0CG8BLAO >?8AK20BL >4=><5@=K5 <0AA82K; 
 =0CG8BLAO 22>48BL >4=><5@=K5 <0AA82K; 
 =0CG8BLAO 35=5@8@>20BL >4=><5@=K5 <0AA82K; 
 =0CG8BLAO 2K2>48BL >4=><5@=K5 <0AA82K; 
 >ACI5AB2;OBL ?>8A: <8=8<0;L=>3> 8 <0:A8<0;L=>3> M;5<5=B>2 <0AA820; 
 C?>@O4>G820BL <0AA82K ?> 2>7@0AB0=8N 8 C1K20=8N. 

 

�484A<9   !0?8A0BL 2 A@545 Turbo Pascal ?@>3@0<<K, @50;87CNI85 A;54CNI85  
0;3>@8B<K, 70?CAB8BL 8E =0 2K?>;=5=85 
 

1. �KG8A;OO 7=0G5=8O ?5@5<5==>9 x=8d+f  ?@8 2A5E 7=0G5=8OE d=1,2,3 8 
 f = -3, 3, -6. %>740BL >4=><5@=K9 <0AA82. �K25AB8 7=0G5=8O M;5<5=B>2 MB>3> 
<0AA820 8 7=0G5=8O d, f. 

 

2. %>740BL >4=><5@=K9 <0AA82 87 A;CG09=> A35=5@8@>20==KE G8A5; (>B 1 4> 36). 
#>4AG8B0BL AC<<C =5G5B=KE G8A5; M;5<5=B>2 <0AA820. �K40BL =0 M:@0= <0AA82 8 
=0945==CN AC<<C. 
 

3. �7 A;CG09=> A35=5@8@>20==KE G8A5; (>B 1 4> 25) A>740BL >4=><5@=K9 <0AA82. 
�K40BL <0AA82 =0 M:@0= 2 2845:  
               01    

 02     
 03     

 04 
 

4. �KG8A;OO 7=0G5=8O ?5@5<5==>9 Z=3A/(9+X)  ?@8 2A5E 7=0G5=8OE    A=0,12,20 
8 X=-2,-3,-8. %>740BL >4=><5@=K9 <0AA82. �K25AB8 7=0G5=8O M;5<5=B>2 MB>3> 
<0AA820 =0 M:@0=: 
               z(a1,x1)    z(a1,x2)     z(a1,x3) 

               z(a2,x1)    z(a2,x2)     z(a2,x3) 

               z(a3,x1)    z(a3,x2)     z(a3,x3) 

 

5. �25AB8 40==K5 4;O D>@<8@>20=8O >4=><5@=>3> <0AA820 )[10]. #><5=OBL  
<5AB0<8 M;5<5=BK <0AA820, 2254O 8E =><5@0 A :;0280BC@K. 
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�D4>F<K9E>4O D45BF4 №5 

�5D45BF>4 86G@9DAOI @4EE<6B6 

Ц9?P D45BFO:  !0CG8BLAO ?8A0BL ?@>3@0<<K A 8A?>;L7>20=85< >4=><5@=KE 8 
42C<5@=KE <0AA82>2. 

 =0CG8BLAO >?8AK20BL 42CE<5@=K5  <0AA82K; 
 =0CG8BLAO 22>48BL 42CE<5@=K5  <0AA82K; 
 =0CG8BLAO 35=5@8@>20BL  42CE<5@=K5  <0AA82K; 
 =0CG8BLAO 2K2>48BL 42CE<5@=K5  <0AA82K; 
 >ACI5AB2;OBL ?>8A: <8=8<0;L=>3> 8 <0:A8<0;L=>3> M;5<5=B>2 <0AA820; 
 C?>@O4>G820BL <0AA82K ?> 2>7@0AB0=8N 8 C1K20=8N. 

 

�484A<9   !0?8A0BL 2 A@545 Turbo Pascal ?@>3@0<<K, @50;87CNI85 A;54CNI85  
0;3>@8B<K, 70?CAB8BL 8E =0 2K?>;=5=85 

1. &@0=A?>=8@>20BL <0B@8FC 8 ?>4AG8B0BL :>;8G5AB2> @02=KE M;5<5=B>2 
program pr1; 

const N1=10;N2=12; 

var A,A1: array[1..N1,1..N1] of integer; 

    B,B1: array[1..N2,1..N2] of integer; 

        i,j,k,k1: integer; 

 

    begin 

 

    randomize; 

 

    for I:=1 TO N1 Do begin 

    for J:=1 TO N1 Do begin 

     A[I,J]:=random(10); 

    A1[J,i]:=A[i,j]; 

        end; 

    end; 

    for I:=1 TO N2 Do begin 

    for J:=1 TO N2 Do begin 

     B[I,J]:=random(10); 

     B1[j,i]:=B[i,j]; 

        end; 

    end; 

   k:=0; 

   for I:=1 to N2 do begin 

   for J:=1 to N2 do begin 

   if B1[i,j]=B[i,j] then inc(k); 

    end; end; 

   k1:=0; 

   for I:=1 to N1 do begin 

   for J:=1 to N1 do begin 

   if A1[i,j]=A[i,j] then inc(k1); 

    end; end;write (k:4,k1:4); 

   readln; 
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2. %>740BL B@5E<5@=K9 <0AA82 87 A;CG09=> A35=5@8@>20==KE 25I5AB25==KE 
G8A5;, 70<5=OO B5 M;5<5=BK <0AA820 =0 0, :>B>@K5 > 55.0. 
 

3. �25AB8 25I5AB25==K5 G8A;0 4;O D>@<8@>20=8O <0AA820 A[3,3], ?>4AG8B0BL 
AC<<C 4803>=0;L=KE M;5<5=B>2 MB>3> <0AA820. 

 

4. �25AB8 25I5AB25==K5 G8A;0 4;O D>@<8@>20=8O <0AA820 A[4,4]. #5@5AB028BL 
:>;>=:8 MB>3> 42C<5@=>3> <0AA820: 1 =0 <5AB> 2 , 2 =0 <5AB> 3, 3 =0 <5AB> 4, 4 =0 
<5AB> 1. 
 

5. �25AB8 40==K5 4;O D>@<8@>20=8O 42C<5@=>3> <0AA820 L[3,3], D>@<8@CO 
2=0G0;5 AB@>:8. #><5=OBL <5AB0<8 AB@>:8 8 :>;>=:8: 1 AB@>:C ?5@5=5AB8 2 1 
:>;>=:C, 2 AB@>:C ?5@5=5AB8 2> 2 :>;>=:C, 0 3 AB@>:C ?><5AB8BL 2 3 :>;>=:C. 
         

6. %35=5@8@>20BL 42C<5@=K9 <0AA82. �KG8A;8BL AC<<C M;5<5=B>2 >1@0B=>9 
4803>=0;8. 
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�D4>F<K9E>4O D45BF4 №6 

�A?>;L7>20=85 AB0=40@B=KE DC=:F89 8 ?@>F54C@ 4;O @01>BK A> AB@>:0<8  
Ц9?P D45BFO: 
          !0CG8BLAO ?8A0BL ?@>3@0<<K ?> ?@3@0<<8@>20=8N AB@>:>2KE <0AA82>2 
 

�484A<9    !0?8A0BL 2 A@545 Turbo Pascal ?@>3@0<<K, @50;87CNI85 A;54CNI85  
0;3>@8B<K, 70?CAB8BL 8E =0 2K?>;=5=85 
 

1. �0<5=8BL 2 ?@54;>65=88  >4=> A;>2> =0 4@C3>5 
program slovo; 

var t,a,b,k,s,c:string; 

i,j:integer; 

begin 

write('�2548B5 8AE>4=K9 B5:AB '); 
readln(t); 

write('�2548B5 A;>2> :>B>@>5 =C6=> 70<5=8BL '); 
readln(a); 

write('�2548B5 A;>2> 4;O 70<5=K  '); 
readln(b); 

t:=t+' '; 

i:=1; 

s:=' '; 

while i<>0 do 

begin 

i:=pos(' ',t); 

c:=copy(t,1,i-1); 

if c=a then s:=s+b+' ' else s:=s+c+' '; 

t:=copy(t,i+1,length(t)-i); 

end; 

writeln('!>2K9 B5:AB',s:10); 

readln; 

end. 

 

2."?@545;8BL, A:>;L:> @07 2 B5:AB5 2AB@5G05BAO 7040==0O 1C:20. 
 

3.#>4AG8B0BL, A:>;L:> A;>2 2 B5:AB5 =0G8=05BAO =0 7040==CN 1C:2C 
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�D4>F<K9E>4O D45BF4 №7 

 

"@30=870F8O ?@>F54C@. �A?>;L7>20=85 ?@>F54C@. "@30=870F8O DC=:F89. 
�A?>;L7>20=85 DC=:F89. 

*5;L @01>BK: !0CG8BLAO @01>B0BL A 8A?>;L7>20=85< AB0=40@B=KE ?@>F54C@. 
�040=851. !0?8A0BL 2 A@545 Turbo Pascal ?@>3@0<<K, @50;87CNI85 A;54CNI85 
0;3>@8B<K, 70?CAB8BL 8E =0 2K?>;=5=85 

 
�040=852. !0?8A0BL 2 A@545 Turbo Pascal ?@>3@0<<K, @50;87CNI85 A;54CNI85 

0;3>@8B<K, 70?CAB8BL 8E =0 2K?>;=5=85: 
1. #0A:0;L A0< ?> A515 =5 ?@54>AB02;O5B DC=:F88, 2KG8A;ONI59 ?;>I04L 

:@C30 ?> D0:B8G5A:><C ?0@0<5B@C 3 480<5B@C :@C30. "4=0:> B0:CN DC=:F8N 
;53:> >?@545;8BL A0<>AB>OB5;L=>. #>A;5 MB>3> DC=:F8N, =0?@8<5@, circle <>6=> 
8A?>;L7>20BL 2 ?@>3@0<<5 B>G=> B0: 65, :0: @0=55 8A?>;L7>20;8AL DC=:F88 sqr 
8;8 trunc. 
� ?5@2>9 AB@>:5 >?@545;5=8O DC=:F88 ?0@0<5B@ d :0: 1K 3>2>@8B «�5;09 B>, 

GB> 45;05BAO A> <=>9, => 8A?>;L7C9 7=0G5=85, :>B>@>5 1C45B =0 <>5< <5AB5». #@8 
2K7>25 DC=:F88 =0 <5AB> d AB028BAO G8A;>, :>B>@>5 B0:8< >1@07>< 2>72>48BAO 2 
:204@0B, 70B5< @57C;LB0B C<=>605BAO =0 3.14159 8 45;8BAO =0 4.0. #0@0<5B@ d 3 
MB> D>@<0;L=K9 ?0@0<5B@, B>340 :0: :>=:@5B=>5 G8A;> 3 D0:B8G5A:89 ?0@0<5B@. 
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� >A=>2=>9 ?@>3@0<<5, >1@0I0NI59AO : DC=:F88 circle, <>6=> 8A?>;L7>20BL 8<O 
d :0: 8<O ?5@5<5==>9 (8;8 ;N1>3> 4@C3>3> >1J5:B0), =5 >?0A0OAL ?><5E A> 
AB>@>=K DC=:F88. 
&0:65 ?@82545=K DC=:F88, 2KG8A;ONI85 ?;>I048 ?@O<>C3>;L=8:0 8 

B@5C3>;L=8:0; 8E ?0@0<5B@0<8 O2;ONBAO 4;8=K AB>@>=.  
�A5 MB8 DC=:F88 <>3CB 1KBL 2K720=K 87 ?@>3@0<<K 2 ;N1>9 

?>A;54>20B5;L=>AB8 8 ;N1>5 :>;8G5AB2> @07. 
"1@0B8B5 2=8<0=85 =0 B>, GB> DC=:F88 2K7K20NBAO A D0:B8G5A:8<8 

?0@0<5B@0<8 x, y, z, B>340 :0: D>@<0;L=K5 ?0@0<5B@K 2 8E >?@545;5=8OE 3 a, b, c, d. 

#5@5<5==0O a 2 >A=>2=>9 ?@>3@0<<5 =8:0: =5 A2O70=0 A D>@<0;L=K< ?0@0<5B@>< a 2 
DC=:F8OE. &>G=> B0: 65 >BACBAB2C5B A2O7L ?5@5<5==>9 x 2 >A=>2=>9 ?@>3@0<<5 8 
;>:0;L=>9 ?5@5<5==>9 x 2 DC=:F88 triangle. 
"?@545;5==K5 745AL DC=:F88 @07;8G0NBAO ?> G8A;C ?0@0<5B@>2. � DC=:F8OE 

<>65B 1KBL ;N1>5 D8:A8@>20==>5 G8A;> ?0@0<5B@>2; >?@545;8BL DC=:F8N A 
?5@5<5==K< G8A;>< ?0@0<5B@>2 (=0?@8<5@, :0: 2 A;CG05 read(a), read(a, b), read(a, b, 
c)) =5;L7O 3 B0:>9 2>7<>6=>ABLN ?>;L7C5BAO B>;L:> A0< Pascal. 
#@>3@0<<0 =0 O7K:5 #0A:0;L:  
var 

    choice: char; 

    a, x, y, z: real; 

  

function circle(d: real): real; 

    const pi = 3.14159; 

    begin 

        circle := pi * sqr(d) / 4.0; 

    end; 

  

function rectangle(a, b: real): real; 

    begin 

        rectangle := a * b 

    end; 

  

function triangle(a, b, c: real): real; 

    var x: real; 

    begin 

        x := (a + b + c) / 2; 

        triangle := sqrt(x * (x - a) * (x - b) * (x - c)) 

    end; 

  

begin 

    repeat 

        read(choice); 

        case choice of 

            'c': begin 

                readln(x); 

                a := circle(x) 

            end; 
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            'r': begin 

                readln(x, y); 

                a := rectangle(x, y) 

            end; 

            't': begin 

                readln(x, y, z); 

                a := triangle(x, y, z) 

            end 

        end; 

        writeln('Square: ', a:8:2); 

    until choice = 'q'; 

  

readln 

end. 

2. �25AB8 x 8 2KG8A;8BL 7=0G5=8O 2A5E 8725AB=KE ?@>F54C@ 8 DC=:F89. 

3. "?@545;8BL GPB=>ABL X G5@57 ODD 8 mod 
4. !09B8 :>4 ASCII 7040==>3> A8<2>;0 
5. !09B8 A8<2>; ?> 7040==><C :>4C ASCII 

6. !0?8A0BL DC=:F8N, :>B>@0O 2KG8A;O5B >1JP< F8;8=4@0. #0@0<5B@0<8 
DC=:F88 4>;6=K 1KBL @048CA 8 2KA>B0 F8;8=4@0. 

7. !0?8A0BL DC=:F8N, :>B>@0O A@02=8205B 420 F5;KE G8A;0 8 2>72@0I05B 
@57C;LB0B A@02=5=8O 2 2845 >4=>3> 87 7=0:>2 > , < 8;8 =. 

8. !0?8A0BL DC=:F8N, :>B>@0O 2KG8A;O5B ab . +8A;0 a 8 b <>3CB 1KBL 4@>1=K<8 
?>;>68B5;L=K<8 G8A;0<8. 

9. !0?8A0BL DC=:F8N Dohod, :>B>@0O 2KG8A;O5B 4>E>4 ?> 2:;04C. �AE>4=K<8 
40==K<8 4;O DC=:F88 O2;ONBAO: 25;8G8=0 2:;040, ?@>F5=B=0O AB02:0 (3>4>2KE) 8 
A@>: 2:;040 (:>;8G5AB2> 4=59) 
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�D4>F<K9E>4O D45BF4 №8 

 

%>AB02;5=85 ?@>3@0<<K =0 O7K:5  �AA5<1;5@ 
*5;L @01>BK: !0CG8BLAO A>AB02;OBL ?@>3@0<<C 2 <0H8==KE :>40E 

За4ани5 1  

   1. %>AB028BL ?@>3@0<<C 2 <0H8==KE :>40E: 
       - 70=5AB8 2 @538AB@ AX 45AOB8G=>5 G8A;> (134+7_<0H8=K) . 
       - ?@81028BL 45AOB8G=>5 G8A;> (103+7_<0H8=K) : AX. 
       - ?5@5A;0BL A>45@68<>5 AX 2 BX. 
       - ?@81028BL AX : BX. 
       - ?>G8AB8BL AX. 
       - 2KE>4 2 DOS. 
   2. �0?8A0BL ?@>3@0<<C 2 <0H8==KE :>40E 2 ?0<OBL A> A<5I5=85< (100+Y), 
     345  Y= 7_<0H8=K+16, Y - 45AOB8G=>5 G8A;>, 
         100 - H5AB=04F0B5@8G=>5 G8A;>. 
   3. $0AA<>B@5BL A>45@68<>5 2A5E @538AB@>2. 
   4. $0AA<>B@5BL 70?8A0==CN ?@>3@0<<C 2 ?0<OB8. 
   5. "ACI5AB28BL ?>H03>2>5 2K?>;=5=85 A>740==>9 ?@>3@0<<K 4> :><0=4K RET. 
   6. �5AB8 ?@>B>:>; @01>BK 2 B5B@048 (:@0B:89). 
   7. "D>@<8BL ?@>B>:>;. 
 

За4ани5 2   

   1. %>AB028BL ?@>3@0<<C 2 <0H8==KE :>40E: 
    - ?5@5A;0BL A;>2> (?5@2>5 G8A;>) - 420 109B0, =0G8=0NI85AO 2 A53<5=B5 40==KE A 
04@5A0 04 2 @538AB@ �X, 
    - ?@81028BL A>45@68<>5 A;>20 (2B>@>5 G8A;>) - 420 109B0, =0G8=0NI85AO 2 
A53<5=B5 40==KE A 04@5A0 02 : @538AB@C �X, 
    - ?5@5A;0BL A>45@68<>5 @538AB@0 �) 2 A;>2>, =0G8=0NI85AO 2 A53<5=B5      
40==KE DS A 04@5A0 00,  
    - 25@=CBLAO 2 DOS. 
     5A;8:  ?5@2>5 G8A;>= -576+N<0H; 
      2B>@>5 G8A;>= 84-N<0H; 
     - :>=5F A53<5=B0 40==KE 70?>;=8BL =5:>B>@K<8 A8<2>;0<8 ? , # , * , @ ?> 
       2K1>@C. 
   2. $0AA<>B@5BL A>45@68<>5 A53<5=B0 40==KE. 
   3. $0AA<>B@5BL 70?8A0==CN ?@>3@0<<C 2 ?0<OB8. 
   4. $0AA<>B@5BL A>45@68<>5 2A5E @538AB@>2. 
   5. "ACI5AB28BL ?>H03>2>5 2K?>;=5=85 A>740==>9 ?@>3@0<<K 4> :><0=4K RET. 
   6. %>740BL D09; A @0AH8@5=85< .com. 
   7. "D>@<8BL ?@>B>:>;. 
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�9D9K9AP GK95AOI <;84A<=, <AF9DA9F - D9EGDEB6, 8BCB?A<F9?PAB= ?<F9D4FGDO:  
�EAB6A4O ?<F9D4FGD4: 
�>;8FK=0 ". �. "A=>2K 0;3>@8B<870F88 8 ?@>3@0<<8@>20=8O: 'G51. ?>A>185. 3 

 .:�!($�- , 2022. 3 432 A. 

ДBCB?A<F9?PA4O ?<F9D4FGD4:  

�;3>@8B<870F8O 8 ?@>3@0<<8@>20=85: 'G51=>5 ?>A>185 / %.�. �0=F540;. -  .: �� 

("$' : !�* �!($�- , 2022. - 352 A.: 8;.; 60x90 1/16. - (#@>D5AA8>=0;L=>5 

>1@07>20=85). (?5@5?;5B) ISBN 978-5-8199-0355-1 

�AF9DA9F-D9EGDEO: 
− #@>3@0<<8@>20=85 =0 Java, C++, Pascal:  http://www.kufas.ru  

− "A=>2K ?@>3@0<<8@>20=8O: www.infobook.ru/book/book_10496_0.html  

 


